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41) A real fluid is any fluid which
1} has zero shear stress
2) has viscosity

3) has constant viscosity and density
4) has surface tension and is in compressible

41)&%&*&:,@%@:&:%%@*
1) dax g A
3) wMER frafid g &0 §

JM
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2) fEpfad v
4) [THY S Tl FAHEEA B

42) The dimensions of the coefficient of dynamic viécosir:y in (M.L.T) notation system are

*

p MLT! 2y MILT
3 ML T gmrtr!
42) BHHIET ATE SRS FEpiEl & (M, L, T) Aleym # S ¥
n MLT! 2 ML T
3 ML T 4 ML T!
43) Newton’s law of viscosity is given bythe.:.rclatio;} fndiresUlt.ih whatsapp - 9352018749
du ' du
1) 7= =— 2y T=p—
) Teu=g ) Teug
du du
7= 28 =t 2
ORIV APS 9 =it
/ «
(# WoiResuLTe
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43) e i fram, e 4o & (# WoiResuLTa
du du
D TN Y et
3) f:ﬂmi—:— 4) wﬂzg_
44) Inclined single column Manometer is useful for the measurement of pressures
1) Negative 2) Small
3) Medium 4} High
44) zarEs W FIEH TAWET S § AT 8 @ A9 & o
1) JursE 2) i
3) HeAy 4) Zu
45) High velocity in a conduct of large size is known as
1} Laminarflow 2} Turbulentflow
3) Eitherofabove 4) none of the above
45) 95t WA & Heac § geg i & AA S @
1) *Hr g2 2) TIEgET 98
3) FWH FE Th 4) ww F e
' o du dv ow

46) The Continuity equation 5 + a_y + _a_z. =0

I} Is valid for ideal fluid flow only
2) Is valid for steady flow, whether compressible of incompressible
3) Isnot valid for unsteady, incompressible fluids |

4) Isvalid for incompressible fluids whether flow is steady or unsteady

du dv dw

46) FHEIYE THIIE 5;+5;+—§;:0

1) &g neiRud g1 9o & ol yara/des 8

2) ¥ aEE & T ¥, 96 FHhEE & SFeE 3heEEe

3) SEl & T umie 7E ¥, S HEd 5= |

4) FHEEIga v & o wHIToI B, 08 g wEl Bl o Sl
47) For viscous flow the co-efficient of friction is given by .

indiresult.in whatsapp - 93520187?:69
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47 ferare aeTa % Tl rEiede e fhas™ g B J

=S g 16

D /=g D f e
32 64

3) f=n 4 [ =

2
v
48) The total energy represented by Bernoulli’s equation (5“ + g +Z') has the units

1) Nmrfs 2) Nm/m
3) Ns/m 4y Nm/n

48) P TR, T ZEIIE BT MR BT (m+-~g+2)a%§m*€

1) Nm/s 2} Nm/m
3) Ns/m ~ 4) Nmh
49) Minor losses in a pipe flow are those losses
1) Which are insignificantly small
2) Which canbe negiecied. élways
3) Causedby frictioné} resistance -
4) Caused by local disturbance due to pipe fitting
49) Ty e & A s @ et E
1) Magafiges &
2) For wiam & SUfem fam o ©
3) TrasTa WReR & SR Bl &
4) e aren % BRI, TEY ST F gm
50) The discharge coefficient of a standard venturimeter can be expressed in general as C =
1) fn(Re) 2y fa(f)
3) fuRe,f) 4) AconstantforallRe & /

Where Re = Reynold number, £ = Ratio of throat to inlet diameter
X . indiresult.in whatsapp - 9352018749
50) s dRgiiey & Rl @difiER o srad o g

1) /m(Re) 2). fu(f)
3) fn(Re, ) : 4y @it Req g % fordy fler (%F@?E)

Re = Ww f=¢iT 3=ic = Hr 90T
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51) A tapered draft tube as compared to a cylindrical draft tube

1) Prevents cavitation even underrec: e discharge

2) Prevents hammer blow
3) Responds better to Joad fluctuations
4) Converts more of kinetic head into pressure head

51) U% oS SR o & UF [WaSiand S ogd ¥ gadl B W
1) 9¢ g4 e (Bwand) T FHiesm d%a ©

2) BHY A U ®

3) &S TFguyN Bl 980 R #ar §

4) TIET & 82 &l Y9 &2 § uftafid s € | | @
52) Maximum impulse will be developed in hydraulic ram when

1) Ramchamberis large . 2) Supply pipeislong

3) Supply pipe is short 4) Waste valve closes suddenly
52) ergifo W § sy g famthd g |

1) ¥ fay asr 2) FARE EY T4 E

3) HlE EY B ¥ 4) I awa FAIF GF B T &

53) Inahydrauakic coupling

1) Slipis around 2 tor3 percent at the ranning speed

'2) Slipisegligibleatlowspeeds - -

3) Efficiency of transmission is high at low speeds

4) Efficiency is high as compared to mechanical coupling
53) sgifers wufem §

1) T i o Rew 2 ar 3 afoee % A we

2) w9 iy W feg Tog ¥

3) &9 MUY TR R E6 g

4) TS SO ¥, w9 YEw BT F g ath‘r W
54) A hydraulic intensifier normally consists-of

1} acylinderandaram indiresult.in whats'app - 9352018749

2) acylinder, a piston, storage tank and control valve
3) twocyhnders, two rams anda storage device

» 4) twoco-axial rams and two cylinders
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54) gegite geadieEy § AmE: B9 2 .
1) fiiver 4 7 (#)NDIRESULTE
2) U% ey, ud e, @5 <& 9 91d
3) @ sy, 8 W, uw wie e
4) & @ ufdugs Yy g ) adest

55) Which of the following devices is used for transmitting increased or decreased torque from one shaft to

another
1) Hydraulic torque converter 2} Hydraulicram
3) Hydraulic intensifier 4) Hydraulic coupling

55) 1 aven O S wm d o Sral B
qET B3 9 WIS §311 e, U 9NE § gEl WY eruiie s

1) =gl T Eact 2) ediioes

3) ergiivis geAdwRET 4) TR HATT
56) The power which appears in the expression for the specific speed is the

1) Water power 2) Shaft power

3) Power into the turbine 4} none of the above
56) wfafe® 7fa & TEeE o REd O R ¥

1) ¥ - IR 2) 9UE G

3) exaed ot P - 4) Sugw H B 7
57) Specific speed of an palton wheel ranges from

) 12070 2) 80 to 400

3) 300 to 1000 4) 1000 to 1200
57) Ywes #ie 1 WS M B BaE © :

1) 12" 70 2) 809 400

3) 300 1000 4) 1000% 1200

58) Ina Francis turbine the discharge leaves the runner radially at exitfor this turbine -

1) The blade tip is radial at the outlet

2} The blade tipis radial at the inlet

3) The guide vane angleis90°  indiresult.in whatsapp - 9352018749
4} The absolute velocity is radial at outlet

58) Wit Traed § et oy wWas any gred §1 59 e & B
1) =18 feu sneede gt wEy ¥ 2) =i foeq Tovie o EEE §
3) TEE AN N 90° % 4) wsdrege nifd ensede W EEE B
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59) Which of the following turbines is most efficient at part load operation ?

1) Pre cller 2y Palte  wheel
3) Francis 4) Kaplan
59) ai€ @rs ALY 97 e evEE § ave Aty udise ¥ -
1) e 2) e @ P
3) wifw 4y
60) Specific speed of turbine is expressed as
) NP 2 NP
H H
3) NP 4 NP
H 374 H 514
60) TrarEs & wiffts fa & suia e @
1) NJP 2) NP
H H*
3) NP 4) NP
H* H™
61) The unitpower P, of a turbine developing a power Pundera head H is equal to
1) P/H 2) PIH™
3) PNH F 4y pHY
61) T & gie Wt P, faepfud #%d & oo P, B8 H& aua ©
1y P/HY -2y PIH?
3) PVH 4y PH
62) The value of speed ratio (K ) in case of Francis turbine ranges from
1) 021003 2y 0410035
3) 06009 4) noneof above
62) wiiiE evaigT & forr s Wil (K ) #i 30y &1 o §
1) 02703 2) 04H0S5
3) 06709 4) ST A g Wl
63) A Palton turbine is considered suitable for which of the following head -
1) 10to20m 2) 20030m
- 3) 35t050m 4y 100t0250m
C{"a‘lNDlRESULTE indiresult.in whatsapp - 9352018749
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3 oo v 2 Frot B 3 P e v O!NPJ55§HHE

f10H 209
1) 35F 507
64) Kaplan turbine is

1} A low axial flow turbine

3) Animpulse inward flow turbine

64) HUAM TEET B
1) O% H9 UG gE1g ovEnd
3) UF T HAd g crann

2 207305 A
4) 100 %250

2) A high head mixed flow turbine

4y Anouwtward flow reaction turbine

2) wF T B iU gEE oA
4) U% 9T TEE AR eTEEd

65) Which of the following serious problems arise from cavitation 7

1) Damage to blade surface

3) Noise and vibration

2) Fallinefficiancy
4) Allofabove

65) Higzs & Hror Fe § O gl Gl (dGrftag) dgsn g 88 R

1) &% g8 & 85
3) ¢R UF &

66) The blade of power saw is made of

1) High speed steel

3) Stainless steel

66) UrE 3T (Saw) Bt &g &4 BT B

1) =R wiiz 2
3) =aery fda

2) el & froae
4) TW I T

2} Baron steel

4) Malleable castiron

2) a3 i
4) HEAEA HRE SRA

67} The most suitable theory of failure for brittle material 1s

1) Maximum strain energy theory

3) Maximum shear stress theory

2) Maximum normal stress theory

4) Maximum distortion energy theory

67) e Aelam & W uah SRy gead wndi o Sl &

1) Higgey =2 el o
3) Hfeem e €8 @k

2) WW@HW -
4y Bferrmy Ty wael @@l

68) A key connecting a flange coupling to a shaft is likely to fdﬂ in

1) Tension

3) Shear

YOUR SUCCESS PARTMNER
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2) Bending

4y Torsion
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68) IR FUET BT S F NN @l Gl (W) BE & uwdl B

) o odfEn )
3) famw 4y THIA

69) Anopen coiled helical spring is subjected to an axial force, the wire of the spring is subjected to
1) Combined shear and bending only
2) Combined shear, bending and twisting
3) Combined shear and twisting only

4) Direct shear only

69)@WW%W‘WWW@W%,W%WWW _

1) vy e g dfdn i 2) ©gw fvmr, 4T ol featten
3) Hgew fgre, ol feafen 4y drn e fad
70y Thelife of a ball bearing is inversely proportional to
1y (Load)” 2) (Loady
3) (Load)™ 4) (Load Y’
70) T feafi @ offem, gracel ddigte S
1) (w19 (Load 2y (vm)(Load ¥
3) (9R)(Load ) 4) (9R) (Load )
71) The mostsuitable bear{ng for carrymg Vefy heavy loads with slow speed is
1) Hydrostatic bearing 2) Hydrodynamic bearing
3) Ballbearing 4) Rollerbearing
71) 9gd WY IR 9 %9 T % R 999 W9% &9 3 awl an
1) eEgReies fEaiin 2) ErEgEEAAE
3) amw faafi 4) e fEr

72} The bearing chz_trz;cterig;ié nﬁmber inra hydrédynamic bearing depends on

1) Length, WidthandLoad |

2) Length, Width and Speed

3) Viscosity, Speed and 1oad

4) Viscosity, Spéea and bearing pressure  indiresult.in whatsa pp - 9352018749
72) EEgEgafys fAafin § Fafy Seefifes v, v @ '

1) R, 9EE K 9r ' 2y T, e ofi iy

3) fEERtad), i o vr 4y TeestiEd), iy o fafin gam
_
(#)WDiResuLTE
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73) The powerof a govemor is equal to _
2 2(_2
m I+2':(m +mh ., oy {m +m )k ! "
2 2 ;
3) {_zc(m +m)h 4) 1+2C(m+m)h
Where C = Percentage increase in speed
h = Height of governor
M = Mass of each ball
m = Mass of central load
73) TS &7 T B &
¢’ : }
{1 +m ) +m)h
1) 1+26(1?1 n) 2) I+2C(m m)
2 2
 +m)h m+m)h S
3) 1+2c(m n) 4} I+2c( ) | §§;
Where C = Hialsrt &, iy & '
h = TR @ SR

M = T & (ball) T 5T (mass)
m = HET §E F 9 (mass)

74) Inspur gears, the circle on which the involute is generated is called

1) Basecircle . © 2) Pitchcircle
3) Clearance circle 4) Addendum Ciréle
74) i R ¥, adire R wg geege weve g §, e §
1) aa uifew 2) fomr wdfem
3) frmva wife 4) gy ulide

75) When the pitching of ashipis upward, the effect of gyroscopic couple acting on it will bé _

1) Tomove the ship towards star-board

2) To move the ship towards port side

3) Toraise the stern and lower the bow

4) Toraise the bow and lower the sten  indiresult.in whatsapp - 9352018749

75) g SRR R S o) TR B &, THh S AV AT UHE T AT SRR U 6 HET Sl
2) st @ WE T @ A Hie
3) w F Tamr aur & @ A me
4) al & oI qdT T &I A B
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76) The partial balancing means ({/} INDIRESULTE
1) Bestbalancing of engines /“Jr
2) Balancing partially the reciprocating masses
3) Balancing partially the revolving masses
4) Allof the above

Y e

76) I AT & HA0E B
1) 39 & 98T S0 SR
2) SIS AT W SAN9E I
3) Ramin g9e & Jiivs I

4) T el |

77) The essential condition of placing the two masses, so that the system becomes dynamically equivalent is
1y Ll =K; | oy W=k,
3) I, =K, 4) l,=Ks

1, &1, =Distance of two masses from the C.G of body

K, =Radiusof gyration of the body
77) & WA B A & D oawd Feer, e 37 Rren) seasd s &
b 1112=K(§ . ,2)_li'g_meg
3) L =K, ' ey LEK
1, &1, =9l & C.G 4 aFl "Eg &l gl
K, =6 o gy g aeeE
78} The maximum efficiency for spiral gears is _
1) sin(@+@)+1 _ - - 2) cos{f-¢)+1
cos(ﬂw(o).fl sin{@+ @) +1
3) cos(9+&7)+1 B 4) éc‘ié(bw;@)%l
cos(@—@)+1 cos(@+@)+1 R
g = Shoftangle, ¢ = Friction angle ' | ' |
1) sin(@+@+1 2y cos(f—@)+1
cos{(@— @) +1 sm(@+@)+1
3y cos(6+@)+1 4) cos(@-@)+1
cos{f—¢@)+1 cos(f+p)+1 :

. indiresult.in whatsapp - 935201874
g = S EFO, ¢ = fFEm B ,
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79) Inaclock mechanism, the gear train used to connect minute hand to hour hand is

1} Epicyclic geartrain 23 Reverted gear train
3y Compound gear train 4) Sunple gear train
79) s g F AEAE F, e & o e g9 21y # O¢ 9 BTY F el §
1) ndreEle ey 2 2) frads frae &
3) g iy oo 4y At firy &= ;
80) Ina hartnell governor, if a spring of greater stiffness is used, then the governor will be
1) More sensitive 2) Lesssensitive
3) Isochronous 4} noneof above K
80) grdaer WY A, W@Wﬁmmﬁﬁm@mwm
1) s #fafeg 2) %9 dftfea i
3) S 4) T T FE A T it
81) The swaying couple is due to the ‘ @
1} Twocylinders of locomotive 2) Partial balancing
3) Primary unbalanced force 4) Secondary unbalanced force
81) W wuw & §
1) ey & @1 et o 2) s eET
3) e sFReRaE da | 4) HE=A RIS A
82) The radial distance of a tooth from the pitch circle to the bottom Qf the ioéjth, iscalled
1) Dedendum 2) Acfdendﬁm
3} Clearance . 4) Working depth : _ i
82) za % frg weiee 4 O ¥ drew & duw gl w1 wed § :
1) fegew 2) =y g
3) FAE o 4) R T
83) The work requirement for a reciprocating compressor is minimum when compression process is
1) Isothermal : 2) Isentropic
3) Polytrophic 4) Adiabatic
§3) YuirsRin e B o i = ¥ o aed g
1) W (S 2) wAgiE (sediv)
3) RiiivieE 4) uiEEEEEs

indiresult.in whatsapp - 9352018749
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84) Maximum combustion pressure in a gas turbine i ..o eerverene. as compared to diesel ergine
1) Lower 2) Same
3) More 4y None of above
84) ribrem T U9 U T eraEd o S T % gel § §
1) &4 2) HHH
3) W 4) I TN BE €

85) When the speed of centrifugal pump is doubled the power required to drive the pump will
1} Increases 8 times 2) Increases4 times
3) Double

85) T YT T FI TG G A €, U9 & T (3Ra) $ Y ua

4) Remains the same

1) 8 TFT g8 Sl 2) 4 T 98 S
3) TR 4) wHF TR

86) A surge tankis used to

1) Avoid reversal of flow
2) Prevent occurrence of hydraulic Jump

3) Smoothen the flow
4} Relieve the pipe line of excessive pressure fransients
86) & 8% am § aw ¥
1) g/ & Seel @8 8 AFA @l
2) Rt SFY w O @ AR @
3) FEH @ WE w7 &
4) wFTHY e AR 4 OEY aEd & REE &9 F W
87) A double acting reciprocating pump compared to single acting pump' will have nearly
1) double weight 2} double head
3) doubieﬂéw ~ 4) doubleefficiency
87) wm saw ufRT TN, w, R, R T g e 8, e g
1) T 91 2) T &
3) U W 4) g Uy

88) Asingle acting two stage compressor with complete intercooling delivers air at 16bar. Agsuming an intake
state of 1 bar at 15°C, the pressure ratio per stageis jndiresult.in whatsapp - 9352018749

1) 16 2 8
J) 4 4y 2
Jc
@NoiresuLTa
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88) T FT R @1 2w e, T3 O9F Sergiad Oy 16 a1 W SR &1 8 | 39E e 1 &1 15°C
F 9 £, gor e ufd ©e §

1) 16 2) 8

3 4 4) 2
89) Centrifugal pump operating in series will result in

1) Higherdischarge 2) Higher Head

3) Low speed operation 4) Reduced power consumption
89) AT W S G A S wE ¥, wha dm

) s femms 2) wErEE

3) & TR AT 4) HET T UG S

90) Specific speed of a turbo machine
1) Remain unchanged under different conditions of operation
2) Has the dimensions of rotational speed
3) Relates the shape rather than the size of the machine
4y Is the speed of a machine having unit dimensions
90) =rEmsiT @ wiaEs iy
1) aaisr @ farm Rafoal | fomm geer @0
2) uud arel oy € eEESE E
3) fv & Rde sl ¥, g () wel @ s @
4) weiw @y iy &, Rrmet give s §

91) Inatwo stage gas turbine plant, reheating after first stage

1) decreases work ratio 2) Increases work ratio
3) Does nét effect work ratio 4) Noneof'the above
O1) & WS T iR @e, TUH © &l JeleT % aF
D) @ W geer 2) e Aewi ag @
3) o Yo @ or e 4) T A B
92) Mechanical Efficiency of a gas turbine as compared to Internal combustion engine is
1) Lower o - 2) Same '
3) Higher ~ 4) Unpredictable
92) T eXETER B Hehleme USSR @, AT BRI 3N Dt I Be 3
1) & ) gEA |
.3 = : 4) sFifEecas
@INDIRESULTE indiresult.in whatsapp - 9352018749
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: 93) Computer Graphic terminal usethe .............. as display device
1) X-Ray tube 2) Cathode Ray tube
' 3) Bothofthem 4) None of these
93) Freger TBET TR oo #r ey oo 4 A%
1) T egd 2) HUET e
3) A 4) T @i o T
; - 94) Functions of CAD system are
i 1) Drafting 2) Geometric modelling
3) Designreview and revaluation 4) Engineecring Analysis
94) @ ¢ €1 foen & wR €
D) gifn 2) Smfes wiskin (v wieki)
3) feumew Ry o Ramger 4y TR (EEiRE) R
] 95) Three dimensional representation of an object is termed as '
1) Engineering Analysis 2) Geometric modelling
| 3) Automated drafting 4) None of above
95) e ] BT O SEHNIE g, BH B
1) gifare fagor 2) v wref
3) wahE g | 4) TR F B T
96) Which of following is an output device for CAD ? _
1) Penplotiers 2) Hard copy units
3) Computeroutput to microfilmunits 4) Allof above
96) fv1 & § s @l @ e ye fRams §
1) U et
2) W w e -
3) F T T2 A o g
4) 9T g1 /W o
97) Toenlarge orreduce Ehé apparent size of objects, the command used in Auto CAD is
1) SNAP | 2) ZOOM
3) UNDO ‘_ | 4) ORTHO
97) fopell awg @t UL WEW g A1 e, e &% H B HH A6l BHE 7
1) TH 7 ¥ G (SNAP) 2) W S 9 (ZOOM)
. 3) 4 3 (UNDO) 4) & o f2 ug St (ORTHO)
@INDIRESULTE indiresult.in whatsapp - 9352018749
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98) Steady flow occurs when C.'?/,ﬂNDlRESULTE

YOUR SUCCESS PARTNER

-~1) Conditions do not change with time at any .. it
2) Conditions are same at adjacent points at any instant
3) Conditions change steadily with time
4) » tant
= is constan
7

98) =t grg g § @9
1) orgen (&29M) § qeong 29 o, B o e (disR) w o % O

2) wrawen ¥ go €, wdiaadl e & Bl o e . : _ @%
3) aTEReT WEH aEEel &, B & q1Y o |
e fer & _ _ a

99} During throttling process - : o ' é
1) Enthalpy does not change 2) Pressure does not change ' E i
3) Entropy does not change 4) Internal energy doés riot change ' ;
1) wded qeerd W 2) warg () weeRn AEE -
3) el g Ae 8 4) a=le AT gEwdl w8 ¥

100} In an irreversible process these is a
1) Lossofheat ' 2) No loss of work -
3) Gainofheat 4} No gain of heat

100) g3ftariyas fafy & en @
1) @om @ w 2) & @ E AR
3) wow & ik | 4) T ey

101) The air standard efficiency of otto cycle is given by
) 7=14+—rm 2 1——-—~
) ( ) H ) 77 ( )ri

I 1
VB n=loemy _ 4) n=2— e
) "y ) =2y
("f//pINDIRESULTE indiresult.in whatsapp - 9352018749
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101)3{[’&1’ \*‘: (q"a;_\{ a{g_ﬂ '\‘.‘vé U;q%\ﬁf?e-z \f'} 'é:\‘{ = \ﬁ —g YOUR SUCCESS PARTNER
1) n=1+—~1 2) ﬁzi—mi__,
(r)r-l—i (r}r
3) n=1- Iu}; 4y =2~ ]»1
(ry (ry

102) For same compression ratio

1) Thermal efficiency of otto cycle is greater than that of diesel cycle
2) Thermal efficiency of otto cycle is less than that of dicsel cycle

3) Thermal efficiency of otto cycle is same as that for diesel cycle
4) Thermal efficiency of otto cycle can not be predicted

102) wom srer e & o
1) e WEkd & A veiiidal, Sow wged @ gae F samr €
2) ey T & iy TORERD, S TEEd 9 g 8 39 8
3) aTer Argese @i arir TR, Eid WEEa & 999 §
4) AT WIFEHF B AN TR H TP qE A Gd

103) Kelvin - Plank’s law deals with

1} Conservation of heat

3) Conservation of hf:at into work
103) Ffvam % @1 w9 &3 ®
1) ToAT @1 T (FAASE)

3) ST T T H R

2} Conservation of energy

4) Conservation of mass

2) Toll @1 HE ,
4) "G (Mass) %I G0

104) If the temperature of the source is increased, the efficiency of the camot engine

1} Decreases

3) Does not change

2} Increases
4) Depends on other factors

104) af? Grg &1 9y TeR AW E, HAIE 5909 &) TR,

1) g
3) mEwETE AE B

105) Sub cooling occurs when the vapour

2) ge
4) 6% @Sl T FfE Eem

#

indiresult.in whatsapp - 9352018749

I} Has high latent heat

2) Haslow latent heat

3) Removes sensible heat from refrigerant
. 4 Hashigh thermal conductivity

o
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105) 7y Fief o/ B &, 9g a7 | |

1) Fea s T B ¥

2) ® Wew T A B

3) TEaEe g RilER ST SR ST 7

4) TE N FEEOad §
106} For free convection, Nusselt number is a function of

1) Prandtl and Grashof number 2) Reynolds and Grashof number

3} Grashof number only 4) Reynolds and prandtl number
106) @ Hraas, THee TR BaH €
1) wrsed ol B ey 2) YERE I HOE T
3) % a9 T _ 4) Fiwg 3R W Tat
107) The term (NCPLK) is called
1) Froude number 2} Biotnumber
33 Prandt] number 4) Nusseltnumber
107) e (NCPLK) ®i @ed &
1) wigs # =l 2) wEE T
3) wrged Y 4) HHve T
108) The unit of gverall heat transfer coefficient is
1) whnr’k : 2) wimk
3} winy 4) wimk
108) siraraie ol eraw! ddide & R &
1) whinr'k 2) wimk
3) wim? 4y wimk
109) According to wein's displacement law, the wave length corresponding to maximum energy varies with
absolute temperature, T as indiresult.in whatsapp - 9352018749
n T : 2) T '
3 T ' 4 T
109) draw Bowe M & o/OR, I9 W ORaeT ¢ aiftesas S, oY BT © UShege oaTsed, T o
DT o 2) T -
) & 4) T

-
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110) The so called radiator of an automobile is a heat exchanger of YOUR SUCCESS PARTHE
1) Opentype 2y Parallel flow type
3) Counter flow type 4y Cross flow type
110) SCHEEA ®1 {Sie? B €, Sl G, W
1) el €129 2) HEETI? g8d g
3) ®iI! g8 T4 4) Y TEg EEd

111) Bending moment M and torgue T is applied on a solid circular shaft. I the maximum bending stress equals
to maximum shear stress developed, then M is equal to

N M+T 2y NM P +T?
3 SMTe 4) -;-['M +VM 4T 2]

2

111) 3 diie M iR ore T, U G T (circular) ST 97 701 &, aft afimpa dfs 55 auay
B ¥ foean 99 B9 % 3awY 8 W, 99 M g9 a6

1) M+T | 2) M 4T?
3) %\/MZH”Z 4) %[_M + M +T 7]

112) If a circylar shaftis subjected to a torque T and bending moment M. The ratio of maximum shear stress to

maximum bending stress is
1) 2M/T 2) TI2M
3) 2T/M 4y MA2T
112) af2 ad@maR (circular) $9e WY eRa T 9 giE g M o oian £ | sifrsery foray 28 o aiftemay
i wa o dswn ' _
1) 2M/T 2y T2M
3y 2t : : 4y M/2T

113) The shape of Bending moment diagram for uniform cantilever beam carrying a uniformly distributed load
overits length is '

1) Astraightline 2} Ahyperbola
3) Anellipse : : 4) A parabola T
113) g scieirer < frass e, aferiel Redieges wis o oae! gi g w g, i S samm
W e B
1) wmp gy Ty 2) UH EREUTERAT
3) U e 4) U YEEE
J' indiresult.in whatsapp - 9352018749
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114) Which theory of failure will you use for aluminium components under sieady loading

1) Strain Energy theovy . 2) maximumn shear stre ‘s theory
3) Principal Stress th{;uq; 4) Prinicipal strain theory
114) oy foba &A1) 300 g @ & 8 @i, 9 IFgHHa Samel, e SifiT & ot §
1) == ar e 2) afersay vy ©m e
3) BifEes gy wrl 4) fifrm ©= @l

115) Two shafts A and B are made of same material The diameter of shaft B is twice that of shaft A. Theratio of
power which can be transmitted by shaft A 1o that of shaft B

o

1y 12 2) 174 i
3) 18 4) 110 | ;
115) 4] sirwe A5 B us O Wi & &l ¥ | B WU T 7, 99 A HgYAT € ST A § TR BW
o e @ @ R A S R
1 12 2) 1/4 - K
3) 18 4) 1/10 |
116) Which material is used for bearing lining 7
1) Bross ., 23 Bronze -
3) Gunmetal 4) White metal
116) fegti &t ezt & fod @ Selad @ 4 foar s g E
Daw ’ 2) st
3) T g {Few) 4) wT U1g g
117) The bolts in a rigid flanged coupling connecting two shafts transmitting power are subjected to =
1) Shear fo;*ce and Bending moment 2) Axial force ;
3) Torsion 4y Torsion and bending moment i
117) fifsie wes spufer, o &1 qee qrer Sit-affe @ g o TS & W AW B, gede B 9 B
1) fomr @@ ofi 97 An= 2) Ui o
3) e 4) erad i dFT 9w
118) Starting friction is low in
1) Hydrostatic lubricaticn 2y Hydrodynamic lubrication i
3} Mixed lubrication 4} Boundary lubrication ]
118) gpach firre % 2 & "
1) EEEles girhe 2) egieles v
3) forrre Wi 4) arsgt aiemas
g indiresult.in whatsapp - 9352018749
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119) Monal Metal is an alloy of
1)~ olybdanum & nickel
3) Molybdamum & aluminium
119) gt og, us o
1) grEsTT i FEa
3) HEEEE AR SR
120) In the assembly of pulleys, key and shaft
1} Pulley is made weakest
2) Key is made weakest
3) Keyis made strongest

4) Allthe three are designed for equal strength

120) gefi, Wikey) T SR B FEEA ©
1) gl SRe g9 SR €
2) Hikey) FIAN TG G &
3) Bikey) HHGH g9 AT ¥

JM

@INDIRESULTE
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2y N kel & copper
4) Molybdanum & zinc

2) Freer ofr @iy
4) drigesaq AR Se

4) i §=7 1 Romsw qum w6 S T
indiresult.in whatsapp - 9352018749
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